
GCSE ENGLISH LITERATURE
Component 2017 2018 2019

A Christmas Carol 44% 43% 49%

Poetry Anthology 55% 48% 57%

Paper 1 now counts for approximately 46% of the 

qualification and Paper 2 counts for 54%

We will be studying the Poetry Anthology and dropping ‘A 
Christmas Carol’
WHY?
• Historically, pupils have done better with the Poetry 

Anthology question
• Unseen Poetry is compulsory so we have to teach the skills, 

these are the same skills in the Anthology
• Unseen Poetry is worth 27% of your grade, and Anthology is 

worth 23% of your grade – making the whole GCSE 50% on 
Poetry based on the SAME SKILLS. 

• You don’t have to deal with learning old Victorian Language
• You don’t have to know the plot of entire novella
• You are given a FULL poem (not an extract) to annotate and 

analyse
• You will find it easier to revise 15 small poems than one big 

text
• Your paper WILL NOT have the ACC question printed in it.


